0.1



01
0.01

0.1

0.2 =

0.2 +

01

0.1

0.2+ 0.04

0.1
10 O

11

0.01

0.01

0.1

0.2

0.01

06 +

05

0.001

0.1

0.01




wrplETEre TR

A
K>
T~ 3 S
e
11'.'."-—{:IJ._"[:;l*'-".:

2o
S14TELTAE

iy i

|

0.1










10

11

12

13

14




0.01

0.01

01

0.1

0.2 x

0.2

0.1

0.2 =



02+

0.1 0.01
0.1
6.4 +
2.0 2.0
2.0 0.1
0.2 +
0.1
0.2 +
0.1
0.01
0.2 + 0.1
0.
0.01
0.01
0.01
0.001 0.001
=+ 0.1

02+




0.6 =+

02 +

0.6 0.1
0.1
01 01
20
0.1
0.1 0.1
0.2 01 0.1 0.01
0.01
0.2
0,1 0,01

20

0.01

0.1
0.1

0.1




